Firefox

Regression report
Date: 2024-04-30 Time: 09-49-05
Summary report

Module

qos_scheduler

12

Total testcases

Testcase Complete Summary: Total: 12, Passed: 12, Failed: 0

Detailed report of gos_scheduler

Testcase summary: Total: 12, Passed:

Testcase
name Status User Input
test_case 01.1 Passed

Input: [
{

“name": "policyl",
“schedulers”: [

"cbs": 30000,
"cir': 32000,
“meter_type": "packets",
"pbs": 35000,
"pir": 40000,

"scheduler_type": "dwrr"
"sequence”: 0,
"weight": 10

“name": "policy2",
“schedulers”: [

"cbs": 800000,
"cir': 50000,
"meter_type":
"pbs": 900000,
"pir': 60000,
"scheduler_type": "wrr",
"sequence": 8,

"weight": 5

"bytes”,

10of18

12, Failed: 0

Commands

Commands: [
{

“name": "policyl",

"schedulers":
{

cir":

“meter

“pbs”:
“pirt:

[

0,
type": "packets",
35000,
40000,

“scheduler_type": "dwrr",
]

"sequence"
“weight”

}

1
"state":

“name" :
"schedulers":
{

ncbs
teirt:
“meter
"pbs":

"scheduler type":

10

"merged”

“policy2",

[

800000,

50000,

type": "bytes",
908000,

60000,

wrr,

“sequence": 0,
"weight": 5

}

1,
“state": "merged”

file:///home/shade/regression-2024-04-30-09-49-05.html

Before: [
{

“name" :

12

Before

“schedulers":

{

"meter_type":
"pir": 100,

"scheduler_type
"sequence": 0,
"weight": 1

“packets",

-

"meter_type": "packets",
"pir": 100,
"scheduler_type": "wrr",
"sequence": 1,
“weight": 1

"meter type": "packets”,
"pir': 660,
"scheduler type
"sequence”: 2,
"weight": 2

"meter_type": "packets",
"pir: 8000,
"scheduler_type":
“sequence": 3,
"weight": 1

"wre',

"mets
ol
"scheduler_type":
"sequence": 4,
"weight": 1

type": "packets",
500,

"wret,

“meter_type":
"pir": 2000,
"scheduler_type":
"sequence": 6,
"weight": 2

“packets",

"wret,

"meter_type":
"pir": 6000,
"scheduler_type": "wrr",
"sequence": 7,

“weight”: 2

“packets",

"meter_type": "packets”,
"pir': 1000,
"scheduler_type":
"sequence”: 8,
“weight”: 2

wre',

"meter_type":
“pir*: 300,
"scheduler type":
"sequence”: 9,
"weight": 2

"packets",

wre',

"meter_type": "packets",
“pir": 3000,
"scheduler_type": "wrr",
“sequence": 10,
"weight": 2

"meter_type":
"pir": 3000,
"scheduler_type":
"sequence": 11,

"weight": 2

"packets”,

"wret,

"meter_type":
"pir": 2000,
"scheduler_type": "wrr",
"sequence": 12,
"weight": 2

“packets",

"meter_type": "packets”,
"pir": 5000,
"scheduler_type": "wrr",
"sequence: 13,
“weight”: 2

"meter type":
"pir": 10000,
"scheduler_type":
"sequence”: 14,
"weight": 6

"packets",

"wre",

"meter_type": "packets",
“pir": 5000,

"scheduler type": "wrr",
“sequence": 15,
"weight": 4

"meter_type":
"pir": 5000,
“scheduler_type":
"sequence": 16,

"weight": 4

"packets",

"wret,

“meter_type":
"pir": 500,
"scheduler_type":
"sequence": 17,
"weight": 2

“packets",

"wret,

"meter type": "packets",
"pir": 500,

"copp-scheduler-policy",
[

Passed

After: [
{

“name": "copp-scheduler-policy”,
[

After

"schedulers":

{

“meter_type":
"pir": 100,
"scheduler_type":
"sequence”: 0,
“weight": 1

“"packets",

aree,

"meter_type": "packets",
“pir': 100,
“scheduler_type": "wrr",
"sequence": 1,

“weight"

1

"meter_type": "packets",
ir': 600,
"scheduler_type":
“sequence": 2,
"weight": 2

"wrr',

"meter_type":
“pir: 8000,
“scheduler type":

“packets",

"wrr',

"scheduler_type": "wrr",
"sequence": 4,

“weight": 1

“meter_type": “packets”,

: twrrt,

"meter_type":

“packets",
"pir": 6060,
“scheduler_type": "wrr",
"sequence": 7,
“weight": 2

"meter_type": "packets",
“pir": 1000,
"scheduler_type": "wrr",
“sequence": 8,

“weight"

"meter_type":
pir': 300,
"scheduler_type":
“sequence”: 9,
"weight": 2

“packets",

"wrr',

"meter_type": "packets",
"pir": 3000,
“scheduler _type": "wrr",

"weight"

"meter_type":
: 3000,
“scheduler type":
"sequence": 11,

“weight":

“packets”,

"wre',

“meter_type":
"pir": 2000,
“scheduler_type": "wrr",
"sequence": 12,
“weight": 2

“"packets",

"meter type": "packets",
“pir": 5000,

“scheduler type": "wrr",
"sequence": 13,
“weight": 2

"meter_type":
“pir*: 10000,
"scheduler type":
“sequence": 14,
"weight": 6

“packets",

"wrre',

"meter_type": "packets",
pir': 5000,

“scheduler _type": "wrr",
"sequence": 15,
"weight":

"meter_type":
"pir": 5000,
“scheduler type":

“packets",

wrret,
"sequence": 16,

“weight": 4

"meter_type":
pir": 500,
“scheduler_type":
"sequence": 17,
“weight": 2

“packets",

"wre',

"meter type": "packets",
“pir": 500,

Failed

Module
exception

Error: "No Error”

4/30/24,

09:58
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Testcase
name Status User Input
test_case_01.2 Passed I"p\;t: [
“name": "policyl",

"schedulers": [

"cbs": 30000,
“cir': 32000,
"meter type": "packets",
"pbs": 35000,
"pir": 40000,

"scheduler_type": "dwrr",

"weight": 10

“name": "policy2",
schedulers”: [
{

“cbs": 800000,

"cir': 50000,

"meter type": "bytes",
"pbs": 900008,
"pir': 60000,
"scheduler_type":
"sequence": 8,
"weight": 5

"wrre',

Commands :

(1

Commands

file:///home/shade/regression-2024-04-30-09-49-05.html

Before: [
{

“name":

"sched

Before

“scheduler_type":
"sequence": 18,
“weight": 2

"meter_type!
"pir': 5000,
"scheduler_type":
"sequence: 19,
"weight": 3

"packets",

"wre*,

"meter type":
“pir*: 2000,
"scheduler_type":
"sequence": 20,

"weight": 10

"packets",

"wre',

"meter_type": "packets",
gty

"scheduler_type": "wrr",
“sequence": 21,
"weight": 30

“meter type": “packets",
"pir": 500,
"scheduler_type": "wrr",
"sequence": 22,
"weight": 10

"meter_type":
"pir": 500,

"scheduler_type"
"sequence": 23,
“weight": 10

“packets",

"meter type": "packets",
"pir': 20
"scheduler typ
"sequence”: 29,
“weight": 1

"meter type": "packets",
“sequence”: 255

“copp-scheduler-policy",
ulers":

"meter_type
"pirt: 100,
“scheduler_type": "wrr*,
"sequence: 0,

"weight": 1

"packets",

"meter type": "packets”,
"scheduler type": "wrr",
"sequence”: 1,
"weight": 1

"meter_type": "packets",

pir': 600,
"scheduler type": "wrr",
“sequence": 2,

"weight": 2

"meter_type": "packets",
"pir": 8000,
"scheduler_typ
"sequence": 3,
"weight": 1

"wret,

“meter_type": "packets”,

" wrr',
"sequence”: 4,
"weight": 1

“meter_type":
"pir": 2000,
“scheduler_typ
"sequence”: 6,
"weight": 2

"packets™,

wrre",

"meter_type":
"pir': 6000,
"scheduler_typ
"sequence”: 7,
"weight": 2

"packets",

wre',

"meter_type":
“pi 000,
"scheduler_type": "wrr",
“sequence": 8,

"weight": 2

"packets",

"mets

"ol

"scheduler_type": "wrr",
9

_type": "packets",
300,

“sequence":
"weight": 2

"met:

_type": "packets",
"pir": 3000,
"scheduler_type":
"sequence": 10,
"weight": 2

"wret,

After:

“name" :

"sched

After

“scheduler _type": "wrr",

"meter_type"
“pir": 5000,
"scheduler_type": "wrr",
“sequence": 1
“weight"

"packets",

3

"meter_type":
“pirt: 2000,
"scheduler type":
“sequence": 20,

"weight": 10

“packets",

wrr",

"meter_type": "packets",
"pir": 16000,
“scheduler_type": "wrr",
“sequence": 21,
"weight": 30

"meter_type":
"pir": 500,
“scheduler type":
"sequence": 22,
“weight": 10

“packets”,

"wre',

"meter_type":
"pir": 50,
“scheduler_type": "wrr",
"sequence": 23,
“weight": 10

“"packets",

"meter type": "packets",
"pir": 200,

“scheduler type": "wrr",
"sequence": 29,
"weight": 1

"meter_type": "packets",
“sequence": 255

"policyl”,
ulers": [

“cbs": 30000,
“cir': 32000,
"meter_type": "packets",
“pbs": 35000,
"pir": 40000,

“scheduler_type": "dwrr",

“name" :

"sched
{

“Not

“policy2",
ulers™: [

"cbs": 800000,
“cir: 50000,
"meter_type"
“pbs": 900000,
"pir": 60000,
“scheduler type":
“sequence": 0,
"weight": 5

bytes",

"wre',

defined"

Module
exception

Error: "No Error"

4/30/24,

09:58
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Testcase Module
name Status User Input Commands Before After exception

_type": "packets",
"scheduler_type": "wrr",
"sequence":
"weight": 2

“me

_type": "packets",
"pir": 2000,
"scheduler_type": "wrr",
“sequence": 12,
"weight": 2

“meter_type": “"packets",
"scheduler type": "wrr",

"sequence": 13
"weight": 2

"meter_type": "packets",
"pir": 19000,
“scheduler_type": "wrr",
"sequence": 14,
“weight": 6

"meter type": "packets",
"pir": 5000,

"scheduler type": "wrr",
"sequence”: 15,
“weight": 4

"meter type": "packets",
“pir": 5000,

"scheduler_type": "wrr",
"sequence”: 16,
"weight": 4

"meter_type": "packets",

pir': 500,
"scheduler type": "wrr",
“sequence": 17,
"weight": 2

"meter_type": "packets",
"pir": 500
"scheduler_typ
"sequence": 18,
"weight": 2

"wret,

"meter_type": “packets",
"pir": 5000,
“scheduler_typ
"sequence": 19,
"weight": 3

wrre',

“meter_type":
"pir": 2000,
“scheduler_typ
"sequence”: 20,
"weight": 10

"packets",

"meter_type":
"pir": 16000,
"scheduler_typ
"sequence": 21,
"weight": 30

"packets",

wre',

"meter type": "packets",

"wre',

pi 500,
"scheduler_type"
“sequence": 22,
"weight": 10

"mets
"ol
"scheduler_type": "wrr",
“sequence": 23,
"weight": 10

_type": "packets",
500,

"met:

_type": "packets",

"pir": 200,
"scheduler_type": "wrr",
"sequence": 29,
"weight": 1

“meter_type": "packets”,
"sequence”: 255

1
3.

“name”: "policyl",
"schedulers": [
{

reirt:
"meter_type": "packets”,

"pbs": 35000,
"pir": 40000,

“sequence": 0,
"weight": 10

“name”: "policy2",
“schedulers”: [
{

"scheduler_type":
"sequence”: 8,
"weight": 5

test case 02.1  Passed Input: [ Commands: [ Before: [ After: [ Error: "No Error"
- - { { { {
“name": "policyl", “"name": "policyl", “"name": "copp-scheduler-policy", "name": "copp-scheduler-policy",
scheduler: [ "schedulers": [ “schedulers": [ "schedulers": [
{ { { {

“cbs": 32000, 32600, “meter_type":
"cir': 120000, 120000 irt: 1

"meter_type": "bytes", "meter_type"
"pbs": 38000, "pbs

“packets”, “meter_type": “packets",
1

wret, “scheduler_type": "wrr",
o,

“bytes”, "scheduler_typ
38000, "sequence": 0,
"pir": 140000, “pir": 146000, "weight": 1 “weight":
"scheduler_type": "wrr", "scheduler_type": "wrr", ), I
"sequence": 0, "sequence": 0, { {
“weight": 38 “weight": 38 “meter type": “packets", “meter_type": "packets",
3 } "pir": 100, "pir": 100,
1 1, “scheduler_type": "wrr", “scheduler_type": "wrr*,

Y, "state": "merged” "sequence": 1, "sequence": 1,

{ 1, “weight": 1 “weight":
name”: "policy2", < b ¥
“schedulers”: [ “name": “"policy2", { {

{ "schedulers”: [ "meter_type": "packets", "meter_type": "packets",
"cbs": 780, { "pir": 600, “pir': 600,
"cir": 100000, “cbs": 780, "scheduler_type": "wrr", “scheduler type": "wrr",

30f18 4/30/24, 09:58
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Testcase

name Status User Input
"meter_type":
"pbs": 950,
“pir": 110000,
"scheduler type":
"sequence
"weight": 2

“packets",

"wret,

“name": "policy3", 1,
“schedulers": [ {
{

"cbs": 1000,
"cir': 43000,
“meter type":
"pbs": 2000,
“pir": 50000,
"scheduler_type":
"sequence": 47

“packets”,

"strict",

"cbs": 1400,
"cir": 88000,
“meter_type":
"pbs": 1600,
“pir": 120000,
"scheduler_type":
"sequence": 255

“bytes",

"strict",

4 0f 18

Commands

}

1,
"state":

“"name" :
"schedu
{

"cir

“scheduler_type":

}

1,
“state":

cir": 100000
me

"merged"

"policy3",
lers": [

cbs": 1000,

ter type": "

: 43000,

meter_type":

pir':

sequence":

sequence":

"merged”

50000,
"scheduler type":

47

packets",

wrr',

"packets",

255

“strict”,

file:///home/shade/regression-2024-04-30-09-49-05.html

“name" :
“schedulers": [
{

Before

“sequence": 2,
"weight": 2

“meter_type":
"pir": 800,
"scheduler_type":
"sequence": 3,
"weight": 1

"packets",

"wret,

“meter type“
ipirn: s
“scheduleritype“ rrt,
"sequence":
"weight": 1

“packets",

"meter_type
"pir": 2000,

"packets",

"scheduler type"
"sequence": 6,
“weight": 2

twrrt,

"packets",

"scheduler_type":
"sequence”: 7,
"weight": 2

"wre",

"meter_type":
“pir": 1000,
"scheduler type":
"sequence": 8,
"weight": 2

"packets",

"wre',

"meter_type":
“pirt: 300,
“scheduler_type":
"sequence": 9,
"weight": 2

"packets",

"wret,

“meter_type": "packets”,
pirt 3

"scheduler_type":
"sequence": 10,
"weight": 2

"wrret,

"meter type":
"pir": 3000,
"scheduler_type"
"sequence": 11,
“weight": 2

"packets",

wrre",

"meter_type":
"pir': 2000,
"scheduler_type"
"sequence”: 12,
"weight": 2

"packets",

"wre*,

"meter type":
"pir": 5000

"packets",

"sequence”:
"weight":

"meter_type":
"pir": 10000,
"scheduler_typ

"packets",

"wre',

“sequence": 14,
"weight": 6

"packets",

"scheduler_typ
"sequence": 15,
"weight": 4

"wret,

“meter_type":
"pir": 5000,
"scheduler_type"
"sequence": 16,
“weight": 4

“packets",

wrre',

"meter type :
“pir': 50,

"scheduler type"
"sequence": 17,
“weight": 2

“packets",

wrr,

type":
500,
"scheduler type":
"sequence”: 18,
"weight": 2

"packets",

"wre",

"meter_type":
“pir": 5000,
"scheduler_type":
“sequence": 19,
"weight”: 3

"packets",

"wre',

“meter_type": "packets",

"scheduler_type":
"sequence": 20,
"weight": 10

"wret,

“meter_type
"pir": 16000,
“scheduler_type":
"sequence": 21,
"weight": 30

“packets",

"wret,

"meter type
pirt: 500,
"scheduler_type": "wrr",
"sequence": 22,
“weight": 10

"packets",

"meter_type
"pir": 500,
"scheduler_type":
"sequence": 23,
"weight": 10

"packets",

"wre*,

“meter type" : "packets",

“pi

scheduler type"
"sequence”: 29,
"weight": 1

"wre',

"meter_type":

"packets",
"sequence": 255

"policyl”,

“"name": "pi
"schedulers": [
{

After
“sequence
"weight":
+
{
"meter_type": "packets",
"pir": 8000,
"scheduler type": "wrr",
"weight"
+
{
"meter. type” “packets",
“pir': 5
“scheduler typers ture”,
"sequence
"weight”
iy
{
"meter type": "packets",
pir": 2000,
“scheduler type“: "wrr",
I
{
"meter. type "packets",
N
"scheduler type e,
"sequence"
"weight"
+
{
"meter_type": "packets",
“pir": 1000,
wrret,
"meter_type": "packets",
"pir": 300,
"scheduler type": "wrr",
“sequence": 9,
"weight"
+
{
“meter_type": "packets",
“pir": 3000
“scheduler_type": "wrr",
"sequence”: 10,
"weight": 2
h
{
"meter type": "packets",
“pir": 3000,
“scheduler_type": "wrr*,
"sequence": 11,
“weight": 2
1
{
"meter. type "packets",
"pirt 2
scheduler type": "wrr",
"sequence": 12,
"weight": 2
i
{
"meter_type": "packets",
“pir': 5000,
"scheduler_type": "wrr",
“sequence": 13,
"weight": 2
+
{
"meter_type": "packets",
“pir": 10000,
"scheduler_type": "wrr",
" 14,
"weight": 6
+
{
"meter_type": "packets",
"pir": 5000,
"scheduler_type": "wrr",
“meter_type": "packets",
“pir": 5000,
“scheduler_type": "wrr*,
"sequence”: 16,
"weight:
T
{
"meter type": "packets",
“pir’: 500,
“scheduler type": "wrr",
"sequence": 17,
“weight": 2
I
{
"meter_type": "packets",
"pir”: 500,
"scheduler type wret,
"weight": 2
+
{
"meter_type": "packets",
pir": 5000
"scheduler type": "wrr",
19,
+
{

“meter_type": "packets",
“pir": 16000,
“scheduler_type": "wrr",
"sequence”: 21,
"weight"
h
{
“meter_type": "packets",
“pir": 500,
"scheduler type": "wrr",
"sequence .
“weight": 10
I
{
"meter. type : "packets",
"pir”: 500,
"scheduler type": "wrr",
"sequence": 23,
"weight": 10
N
{
"meter_type": "packets",
“pir": 200,
wrret,
+
{
"meter_type": "packets",
"sequence": 255
}
olicyl",

Module
exception

4/30/24,

09:58
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Testcase

name Status User Input

test_case_02.2 Passed Inﬂ\zﬂ [

“name”: "policyl”,
"schedulers": [

"cbs": 32000,
"cir': 120000,
"meter_type": "bytes",
"pbs”: 38000,
"pir": 140000,

"scheduler_type": "wrr",

"sequence": 0,
"weight": 38

“name”: "policy2”,
"schedulers": [
{

"cbs": 780,
“cir": 100000,

"meter_type": "packets",

“pbs*: 950
“pir": 110000,

“scheduler_type": "wrr",

"sequence
"weight": 2

1,

“name”: "policy3",
"schedulers": [
{

"cbs": 1000,
“cir': 43000,
"meter_type":
“pbs": 2000,
"pir": 50000,

"scheduler type": "strict",

"cbs": 1400,

“cir': 80000,

"meter type": "bytes",
“pbs": 1600,

"pir": 120000,

“scheduler_type": "strict",

“sequence": 255

"packets",

file:///home/shade/regression-2024-04-30-09-49-05.html

Commands

“packets",

“meter_type'
"pb. 35000,
: 40000,
"scheduler_typ
"sequence”: 0,
"weight": 10

1
3

“name”: "policy2",
“schedulers”: [
{

"pir": 60000,
"scheduler type"
"sequence": 0,
“weight": 5

Before: [
{

“name": "copp-scheduler-policy",
1

“schedulers"
“meter_type": "packets",

pir®: .
“scheduler_type": "wrr",
"sequence": 0,
"weight": 1

"meter_type": “packets",
"pir": 100
"scheduler_typ
"sequence": 1,
"weight": 1

wrre',

"meter_type": "packets”,
"pir': 660,

"sequence": 2,
“weight": 2

"meter_type":
"pir": 800,

"packets",

"sequence":
“weight”: 1

"meter_type": "packets",

scheduler typ
"sequence”: 4,
"weight": 1

wre',

"meter_type": "packets",
“pir": 2000,
"scheduler_type": "wrr",
"sequence": 6,

"weight": 2

- type": "packets",
6000,
"scheduler_type": "wrr",
"sequence": 7

"weight": 2

“meter_type
"pir": 1000,
“scheduler_type": "wrr*,
"sequence": 8,

“weight": 2

“packets",

"meter_type
"pir": 300,
"scheduler type":
"sequence": 9,
“weight": 2

"packets",

wrr,

"meter_type!
“pir": 3000,
"scheduler_type":
"sequence”: 10,
"weight": 2

"packets",

"wre",

"meter_type": "packets",
“pir": 3900,
"scheduler_type": "wrr",
“sequence": 11,
"weight": 2

"meter_type": "packets",
"scheduler_type": "wrr",
“sequence": 12,
"weight": 2

"meter_type": "packets",
"pir": 5000,
“scheduler_type": "wrr",
"sequence": 13,
"weight": 2

"meter type": "packets",

Module
After exception

“cbs": 32000,
"cir': 120000,
“meter_type”
“pbs": 38000,

"pir": 140000,
“scheduler_type": "wrr",
“sequence”: 0,

“weight": 38

bytes",

]
}

“name": "policy2",
“schedulers”: [
{

“cbs": 800000,

cir": 50000,
"meter_type": "bytes",
"pbs": 900000,

pir": 60000,

“scheduler type": "wrr",

“cbs": 780,

“cir": 100000,

"meter type": "packets",
"pbs": 95

"pir": 110000,
"scheduler type": "wrr",
“sequence": 1,

"weight"

“name": “policy3",
"schedulers”: [
{

cbs": 1000,

"schedu
“sequence": 47

+ 1400,
: 80000,
¢ “bytes",

: 120000,
"scheduler_t
“sequence

ype": "strict",
255

After: "Not defined" Error: "No Error"

4/30/24,

09:58
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Testcase

name Status User Input

Passed  Input: [

“name”: "policyl®,
“schedulers": [
{

test_case_03.1

"cbs": 37000,
“cirt: 127400,
"meter type": "packets",
“pbs": 48000,
"pir": 280000,

“scheduler_type"
"sequence": 0,

“dwrr",

6 0f18
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Commands

1
T

"name" :

"sched

1
3.

“name”
"sched
{

1
3

“name”

Before

“pir": 10000,
"scheduler type": "wrr",
“sequence": 14,
"weight": 6

"meter_type": "packets",
"pir": 5000,
“scheduler_type": "wrr",
"sequence": 15,
"weight": 4

“meter_type": "packets”,
"pir": 5000,

“scheduler_typ wrrt,
"sequence”: 16,
"weight": 4

"meter type": "packets",

"pir": 500,

"sequence": 17,
“weight": 2

"meter type": "packets",

"sequence": 18,
"weight": 2

"meter type": "packets",
“pir": 5000,
"scheduler_typ
"sequence”: 19,
"weight": 3

"meter_type": "packets",
"pir": 2000,
"scheduler_type": "wrr",
"sequence": 20,
"weight": 10

_type": "packets",
16000,
"scheduler_type": "wrr",
"sequence": 21,
"weight": 30

“meter_type
"pir': 560,
“scheduler type": "wrr*,
"sequence": 22,
“weight": 10

“packets",

"meter_type
"pir": 500,
"scheduler_type":
"sequence": 23,
“weight": 10

“packets",

wrr,

"meter_type!
“pir': 200,
"scheduler type":
"sequence”: 29,
"weight": 1

"packets",

"wre",

"meter_type": "packets",
“sequence”: 255

"policyl”,
ulers: [

"cbs": 32000,

"cir': 120000,
"meter_type": "bytes",
“pbs": 38000

"pir': 140000,
"scheduler_type": "wrr",
"sequence": 0,
“weight": 38

¢ "policy2",
ulers": [

"cbs": 800000,

"pir": 60000,
"scheduler_type": "wrr",
"sequence": 0,
"weight": 5

"sequence”: 1,
"weight": 2

: "policy3",

“schedulers": [
{

Before: [
{

Commands: [

“name": “policyl", “name*:

"schedulers": [
{

"meter_type"
“pbs": 38000,
"pir": 140000,
"scheduler_type": "wrr", },
“sequence": 0, {

"ci 43000,
"meter_type": "packets",
" 26000,
"pir": 50000,
"scheduler typ
"sequence": 47

“scheduler_type": "strict”,

"sequence": 255

"meter type": "packets”,
"pir': 100,
"scheduler type": "wrr",
"sequence":
"weight": 1

strict”,

“copp-scheduler-policy”,
“schedulers": [

Module

After exception

Error: "No Error”

“name": *copp-scheduler-policy",
"schedulers": [
{

"meter_type": "packets",
“pir: 100
"scheduler_type": "wrr",
“sequence": 0,

“"weight": 1

4/30/24,
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Testcase Module
name Status User Input Commands Before After exception
"weight": 40 "weight": 38 "meter_type": "packets", “meter_type": "packets",
1 } "pir": 100, "pir": 100,
1, “scheduler_typ wrrt, "scheduler type“: twret,
“cbs": 700, "state": "deleted" "sequence”: 1, "sequence": 1,
“cir': 60000, 3 "weight": 1 "weight": 1
"meter type "bytes", { 3, 3,
"pbs”: 7 “name": "policy2", { {
65090 "schedulers": [ “meter_type": "packets", "meter type : "packets",
"scheduler_type": { "pir": 600, "pir": 600,
“sequence”: 255, " 780, “scheduler typ “scheduler type“: wree,
"weight": 31 “"cir": 100000 "sequence": 2, "sequence": 2,
“meter_type": "packets", "weight": 2 "weight":
"pbs": 950, + I
“pir": 110000, { {
"scheduler_type": "wrr", meter _type": "packets", "meter_type": "packets",
"policy2", "sequenc 8000, "pir": 8000,
[ "weight" scheduler type": "wrr®, "scheduler type": "wrr",
} "sequence": 3,
“sequence”: 1, 1, "weight": 1
"weight": 16 "state": "deleted" 3 Iy
1 { {
{ "meter_type": "packets", "meter_type": "packets",
“name”: "policy3", “pir: 500, “pir": 500,
"schedulers": [ ”scheduler)ype + twrrt, wrret,
"policy3", { “sequence": 4,
[ “cbs": 1400, "weight": 1
“cir': 80000, h I
: 1500, “"meter_type": { {
: 90000, “pbs": 1600, "meter_type": "packets", "meter_type": "packets",
: 1700, "pir": 120000, “pir": 2000, "pir": 2000,
: 130000, "scheduler_type": "strict", "scheduler type: "wrr", wrret,
“sequence": 255 “sequence": 255 “sequence": 6,
} "weight": 2
1, 1
"state": "deleted" {
Y "packets"”, "meter_type": "packets",
{ "pi "pir": 6000,
“name": "policyl", "scheduler type: "wrr", "scheduler type”: wrret,
"schedulers”: [ "sequence”: 7, 7,
{ "weight": 2
"cbs": 37000, + T,
teirt: 0 { {
“"meter_type": "packets", “meter_type": “"packets", “"meter_type": "packets",
“pbs": 40000, "pir": 1000, "pir": 1000,
"pir": 280000, ”scheuuler,type" wrree, scheduler type”' wret,
"scheduler type": "dwrr", "sequence”: 8, "sequenc
"weight": 2 "weight"
+ I
h { {
{ "meter_type": "packets", "meter_type": "packets",
"pir": 300, "pir": 300,
"scheduler type": "wrr®, "scheduler type": "wrr",
, "sequence": 9, "sequence": 9,
"weight": 2 "weight": 2
"pir": 65000, } N
scheduler_type": "dwrr", { {
"meter_type": "packets", "meter_type": "packets",
“pir": 3000, “pir": 3000
} "scheduler_type": "wrr", "scheduler_type": "wrr",
, "sequence”: 10, "sequence": 10,
"state": "replaced" "weight": 2 "weight": 2
N iy +
{ { {
“name": "policy2", "meter_type": "packets", "meter_type": "packets",
“schedulers": [ “pir": 3000, "pir": 3000,
{ "scheduler_type": "wrr", "scheduler_type": "wrr",
“sequenc “sequence": 11, “sequence": 11,
"weight" "weight": 2 "weight": 2
N +
1, { {
"state": "replaced" "meter_type': “packets", "meter_type": "packets",
1 "pir": 2000, "pir": 2000,
{ “scheduler _type": "wrr", "scheduler_type": "wrr",
“name": "policy3", "sequence”: 12, "sequence": 12,
"schedulers": [ "weight": 2 "weight": 2
{ 1 +
{ {
90000, "meter_type": "packets", “meter_type": "packets",
"pir": 5000, "pir": 50
130000 "scheduler_type": "wrr*, “scheduler_type": "wrr*,
"sequence": 255 "sequence”: 13, "sequence": 13,
} "weight": 2 "weight": 2
1, 1 T
"state": "replaced" { {
} “meter_type": "packets", “"meter_type": "packets",
"pir": 10000, "pir": 10000,
"scheduler typ “scheduler type": "wrr",
"sequence”: 14, "sequence": 14,
"weight": 6 "weight": 6
+ I
{ {
"meter_type": "packets", "meter type "packets",
"pir": 5000, tpirt: s
"scheduler typ "scheduler type": "wrr",
"sequence”: 15, "sequence": 15,
"weight": 4 "weight": 4
3 N
{ {
"meter_type': "packets", "meter_type": "packets",
ir": 5000, “pir": 5000,
"scheduler type": "wrr", "scheduler_type": "wrr",
“sequence”: 16, ,
"weight": 4
iy
{
"meter_type": “packets", "meter_type": "packets",
"pi ) "pir": 500,
"scheduler type: "wrr", "scheduler_type": "wrr",
“"sequence": 17, " 17,
"weight": 2 "weight"
1 +
{ {
“meter_type": “packets", "meter type“ “packets",
"pir": 500, "pir':
"scheduler_type": "wrr", "scheduler type": "wrr",
"sequence”: 18, "sequence ,
"weight": 2 "weight"
1 h
{ {
"meter type": "packets", "meter type": "packets",
"pir": 5000, pir": 5000,
“scheduler_type": "wrr", "scheduler_type": "wrr",
"sequence”: 19,
"weight": 3
+ I
{ {
"meter_type": "packets", meter. type "packets",
"pir": 2000, pir": 2
"scheduler type": "wrr®, scheduler type “wret,
"sequence”: 20, ,
"weight": 10
N N
{ {
"meter_type": "packets", "meter_type": "packets",
"pir": 16000, “pir": 16000,
"scheduler_type": "scheduler_type": "wrr",
"sequence”: 21, "sequence": 21,
"weight": 30 "weight": 30
N 3
{ {
"meter_type": "packets", "meter_type": "packets",
"pir": 500, "pir": 500,
"scheduler_type": "wrr", "scheduler_type": "wrr",
“sequence”: 22, "sequence": 22,
"weight": 10 "weight": 10
N +
{ {
"meter_type": "packets", "meter_type": "packets",
"pir": 500, "pir": 500,
"scheduler_type": "wrr", "scheduler_type": "wrr",
“sequence": 23, "sequence": 23,
"weight": 10 "weight": 10
1 h
{ {
"meter_type": "packets", “meter_type": "packets",
"pir": 200, "pir": 200,
“scheduler_type": "wrr", "scheduler_type": "wrr",
"sequence”: 29, "sequence": 29,
"weight": 1 "weight": 1
N h
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Testcase
name

test_case_03.2

Status

Passed

Input:
{

User Input

[

“name": "policyl",
"schedulers": [

"cbs": 37000,
"cir': 127400,
"meter type": "packets",
"pbs": 48000,
“pir": 280000,

“scheduler_type": "dwrr",
“sequence": 0,
"weight": 40

"cbs": 760,

"cir': 60000,
"meter_type":
"pbs": 750,

"pir: 65000,
"scheduler_type":
"sequence":
“weight":

"bytes”,

“dwrr,

“name”: "policy2”,
"schedulers": [

"sequence": 1,
“weight": 16

“name”: "policy3”,
"schedulers": [
{

: 1500,

"sequence": 255

file:///home/shade/regression-2024-04-30-09-49-05.html

Module
Commands Before After exception
"meter type": "packets", “"meter_type": "packets",
“sequence”: 255 “sequence”: 255
}
1 1
T, +
{
“name”: "policyl”, “name”: "policyl",
“schedulers": [ "schedulers": [
{
"cbs": 32000, “cbs": 37000,
ir": 120000 “cir': 127400,
"meter type": "bytes", “"meter_type": "packets",
38000, “pbs*: 40000,

: 140000, "pir": 280000,
“scheduler_typ wre, “scheduler_type": "dwrr",
"sequence”: 0, "sequence": 0,
"weight": 38 “weight": 40

T,
1 {
1 “cbs": 700,
“cir': 60000,
“name”: "policy2", “meter_type": "bytes",
"schedulers": [ “"pbs": 750,
{ "pir": 65000,
800000, "scheduler_type": "dwrr",

: 50000, “sequence": 255,
meter_type": "weight": 31

}

"pi 1
"scheduler_type": "wrr", 3
"sequence": 0, {
"weight": 5 “name": "policy2",
Y "schedulers”: [
{
“cbs": 800000,
"cir': 50000,
“meter_type": "packets", “meter_type": "bytes",
"pbs": 950, "pbs": 900000,
"pir": 110000, “pir': 60000,
"scheduler_type": "wrr", “scheduler_type": "wrr",
"sequence": 1, “sequence": 0,
"weight": 2 “weight": 5
3
1 {
3 "sequenc
“weight"
“name”: "policy3", }
“schedulers": [ 1
{ +
1000, {
1 43000 “name”: "policy3",
"meter_type": "packets", "schedulers": [
, {
"pir": 50000, “cbs": 1000,
"scheduler_type": "strict", “cir': 43000,
"sequence": 47 “"meter type": "packets",
3, “pbs*: 2000
{ "pir": 50000,
“cb “scheduler_type": "strict",
"ci "sequence”: 47
“meter_type ) 3,
"pbs": 16 {
"pirt: : 1500,
"scheduler type": "strict", : 90000,
"sequence”: 255 : 1700,
: 130000,
] "sequence": 255
} Y
1 1
¥

Commands: [] Before: [ After: "Not defined" Error: “"No Error"
{
“name": "copp-scheduler-policy",
"schedulers": [
"meter_type": "packets",
"pir": 100,

"scheduler type": "wrr",
"sequence”: 0,
“weight": 1

_type": "packets",

“scheduler type":
"sequence”: 1,
"weight": 1

"wre",

"meter_type":
“pir": 600,

"scheduler_type": "wrr",
“sequence":
"weight": 2

"packets",

"meter_type":
"pir": 8000,
“scheduler_type":
"sequence": 3,
"weight": 1

"packets",

"wre',

“meter_type": “"packets®,
“"pir": 500,
“scheduler_type": "wrr",

"sequence”: 4,
"weight": 1

"meter type":
"pir": 2000,
"scheduler_type"
"sequence": 6,
“weight”: 2

"packets™,

wrre",

"meter type": "packets",
"pir": 6000,
"scheduler_type"
"sequence": 7,
"weight": 2

"wre*,

"meter type":
“pir": 1000,

"packets",

"weight": 2

"meter_type":
"pir": 300,
"scheduler_typ
“sequence": 9,
"weight": 2

"packets",

"packets",

"scheduler_typ
"sequence": 10,
"weight": 2

"wret,

“meter_type":
"pir": 3000,
"scheduler_type"
"sequence": 11,
“weight": 2

“packets",

wrre',

"meter type": "packets",
“pir": 2000,
"scheduler type": "wrr",

4/30/24,
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Testcase Module
name Status User Input Commands Before After exception

“sequence": 12,
"weight": 2

"meter_type": "packets",
"pir": 5000,
"scheduler_type": "wrr",
"sequence": 13,
"weight": 2

"meter_type": "packets",
"pir": 19000,
“scheduler_type": "wrr",
"sequence": 1
“weight": 6

"meter_type!
"pir": 5000,
"scheduler_type"
"sequence": 15,
“weight": 4

"packets",

twrrt,

"meter_type!
"pir': 5000,
"scheduler_type":
"sequence”: 16,
"weight": 4

"packets",

"wre",

"meter_type": "packets",
“pir*: 500,

"scheduler type": "wrr",
"sequence": 17,
"weight": 2

"meter_type": "packets",
“pir: 500,
“scheduler_type": "wrr",
"sequence": 18,
"weight": 2

"meter_type": "packets",
"pir": 5000,
“scheduler_type": "wrr",
"sequence": 19,
"weight": 3

"meter type": "packets",
“pir": 2000,
"scheduler type"
"sequence”: 20,
“weight": 10

wrre",

"meter_type": "packets”,
"pir": 16000,
"scheduler_type"
"sequence": 21,
"weight": 30

"wre*,

"meter type": "packets",
"pir": 500,

"weight": 10

"meter type": “packets",
"pir": 500,
"scheduler_typ

“sequence": 23,
"weight": 10

"packets",

"scheduler_typ
"sequence": 29,
"weight": 1

"wret,

“meter_type": "packets”,
"sequence”: 255

“name”: "policyl",
"schedulers": [

"cbs": 37000,
"cir': 12740
“meter_type
"pbs": 48000,
“pir": 280000,
"scheduler_type": "dwrr",
“sequence": 0,

"weight": 40

“packets",

"cbs": 760,

“scheduler_type*: “dwrr",
"sequence": 255,
“weight": 31

“name": "policy2",
“schedulers": [
{

: 800000,

ir
"scheduler_type": "wrr",
"sequence": 0,

"weight": 5

“sequence": 1,
"weight": 16

“name”: "policy3",
"schedulers": [
{

"cbs": 1000,

"cir': 43000
“meter_type": "packets",
"pbs"

"pir":
"scheduler_type
“sequence": 47

"strict",

1500,
90000,
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Testcase

name Status

test_case _04.1 Passed I"p\;t: [

“"name" :
scheduler:
{

name":

User Input

“policyd”,
[

"cbs": 30000,
"cir': 100000,
"meter_type":
"pbs": 35000,
“pir": 250000,
"scheduler_type"
“sequence": 0,
"weight": 10

“packets",

“dwrr",

"policy5",

“schedulers": [
{

"name" :

"cbs": 800000,
"cir': 65000,
"meter_type":
"pbs": 900000,
"pir: 70000,
"scheduler_type":
"sequence": 8,
"weight": 5

“bytes”,

"wre*,

"policy6”,

"schedulers": [

3

10 of 18

“cbs": 10000,
"cir': 43000,
"meter_type":
"pbs": 20000,
"pir": 50000,
"scheduler_type":
"sequence": 47

"packets",

“cbs": 1400,
"cir': 72000,
"meter_type":
"pbs": 1600,
"pir": 98000,
"scheduler_type":
"sequence": 255

"bytes”,

"strict,

"strict",

Commands

Commands: [

“name": “"policyl",
"schedulers”: [
{

“cbs": 37000,
"cir': 127400
“meter_type": "packets”,
"pbs": 40000,
“pir": 280000,

"scheduler type": "dwrr",
“sequence”: 0,

"weight": 46
3
{
700,
60000,
"meter_type"
"pir": 65000,
“scheduler_type": “dwrr",
"sequence": 255,
“weight": 31
i
1,
"state": "deleted"
"name": "policy2",

“schedulers": [
{

“pir": 60000,
"scheduler type": "wrr",
“"sequence": 0,
"weight": 5
i
{
"sequenc
"weight":
}
1,
"state": "deleted”
“"name": "policy3",
“schedulers": [
"packets",
“pir':
"scheduler type": "strict",
"sequence": 47
h
{
+ 1500,
90000,
1700,
: 130000,
“sequence": 255
}
1,
"state": "deleted"
“"name": "policy4",
“schedulers": [
{
“cbs": 30000,
“cir": 100000,
"meter. type"- “packets",
“pir": 250000,
"scheduler type": "dwrr®,
"sequence”:
"weight":
}
1,
"state": "overridden”
“name”: "policy5",

"schedulers": [
{

cbs":
eirt:
"meter_type"
"pbs": 900000,

“pir": 70000,

"scheduler_type": "wrr",
“sequenc
"weight":

}

1.
"state": "overridden"

“name": "policy6",
"schedulers": [

{

"packets",

“scheduler_type":
"sequence": 47

"meter_type":

“bytes",
“pbs*: 1600,
"pir": 98000,
“scheduler_type":
“sequence": 255

}

"state": "overridden"

"strict",

"strict”,

file:///home/shade/regression-2024-04-30-09-49-05.html

Before: [

“name" :

Before

"schedulers": [
{

"meter_type":
"pir": 100,
“scheduler_typ
"sequence": 0,
“weight": 1

“packets",

wrre",

"meter_type":
"pir": 100,
"scheduler_type":
"sequence": 1,
“weight”: 1

"packets",

"wre*,

"mets
ol
"scheduler type":
"sequence”: 2,
"weight": 2

_type": "packets",
600,

"wre',

- type":
8000,
"scheduler type":
"sequence": 3,
"weight": 1

"packets",

"wre',

“meter_type": "packets",

"pi .
"scheduler_type":
"sequence": 4,
"weight": 1

"wret,

“meter_type
"pir": 2000,
”scheuuler,type
"sequence":

"weight": 2

“packets",

-

"meter_type!
"pir": 6000,
"scheduler_type": "wrr",
"sequence"
“weight":

“packets",

"meter_type!
"pir': 1000,
"scheduler_type":
"sequence”: 8,
"weight": 2

"packets",

"wre*,

"meter_type": "packets",
"pirt: s
"scheduler_type":
“sequence": 9,
"weight": 2

"wre',

"meter_type":
"pir": 3000,
"scheduler_type":
"sequence": 10,
"weight": 2

"packets",

"wre',

“meter_type":
"pir": 3000,
“scheduler_typ
"sequence": 11,
"weight": 2

“packets",

wrre',

“meter_type":
"pir": 2000,
"scheduler_typ
"sequence": 12,
“weight": 2

“packets",

wrre",

"meter_type":
"pir': 5000,
"scheduler_typ
"sequence": 13,
“weight": 2

“packets”,

"sequence”: 14,
"weight": 6

"meter_type":
“pir": 5000,
"scheduler_type":
"sequence": 15,
"weight": 4

"packets",

"wre',

- type": "packets",
5000,
"scheduler_type":

"sequence": 16,
"weight": 4

"wret,

_type": "packets",

pir": 500,
“scheduler_type": "wrr",
"sequence": 17,
"weight": 2

"meter_type": "packets",
"pir": 500,
“scheduler_type": "wrr",
"sequence": 18,
“weight”: 2

"meter type": "packets",
"pir": 5000,
"scheduler_type": "wrr",
"sequence": 19,
"weight": 3
"meter_type": "packets",
“pir": 2000,
"scheduler_type": "wrr",
“sequence": 20,
"weight": 10

"meter type": "packets",
npirnil
"scheduler_type": "wrr",
"sequence": 21,
"weight": 30

“meter type": "packets",
"pir": 500,

“scheduler " type": "wrr",

"sequence": 22,
"weight": 10

"copp-scheduler-policy",

After: [

"name" :

After

"schedulers": [
{

“meter. type“ “packets",
pirt: 1

“scheduler, type“: wret,
"sequence": 0,

“weight":

"meter_type": "packets",

“pir": 100,

“scheduler_type": "wrr",
“"meter_type": "packets",
"pir': 600,
“scheduler type s e,
“meter_type": "packets",
"pir": 8000,

f—
“meter_type": “"packets",
pir": 500,
“scheduler type": "wrr",
"sequence
“weight":
“meter_type": “packets",
"pir": 2000,
“scheduler type”- e,
"sequenc
“weight"
“meter_type": "packets",

"pir': 6000,

“scheduler_type": "wrr*,
"sequence
“weight"

“meter type
“p1r“ H
scheduler type":
"sequence": 8,
“weight": 2

“packets",

wrr',

"meter_type": "packets",
“pir: 300,
"scheduler type":
“sequence": 9,
"weight": 2

"wrr',

"meter_type":
"pir": 3000,
“scheduler type":
“sequence": 10,
“"weight": 2

“packets",

"wrre',

“meter_type": “packets”,

"wrrt,

“weight": 2

“meter_type":
"pir": 2000,
"scheduler_type": "wrr",

"packets",

"sequence": 12,
"weight": 2
meter type “packets",
"pirt: 5
scheduler type": "wrr",
“sequence": 13,
"weight": 2
“meter_type': "packets",
"pir": 10000,
"scheduler_type": "wrr",
“sequence": 14,
"weight":
“"meter_type": "packets",
"pir": 5000,
"scheduler_type": "wrr",
15,
“"meter_type": "packets",
“pir": 5000,
“scheduler_type": "wrr",
"sequence ,
"weight":
“meter_type": "packets",
pir": 500,
“scheduler_type": “wrr*,
“meter_type": "packets",

“pir": 500,
“scheduler type": "wrr",

“meter_type"
"pir”: 5000,
“scheduler type
"sequenc
“weight"

wrr',

"meter_type":
“pirt: 2000,
"scheduler type":
“sequence
"weight"

“packets",

"wrr',

"meter_type":
"pir": 16000
“scheduler type":
"sequence": 21,
"weight": 30

“packets”,

"wre',

“meter_type":
"pir": 500,
“scheduler_type":
"sequence": 22,
“weight": 10

“packets",

"wrr',

“copp-scheduler-policy”,

Module
exception

Error:

“No Error®
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Testcase
name Status User Input
test case 04.2  Passed

Input: [
{

"cbs": 30000,
"cir': 100000,
“meter_type": "packets”,

"scheduler_type": "dwrr",

"weight": 10

“name": "policy5",
“schedulers”: [
{

“cbs": 800000,

"cir': 65000,
“meter_type": "bytes",
"pbs": 900000,
"pir": 70000,
“scheduler type":
"sequence": 0,
"weight": 5

"wre*,

“name”: "policy6”,
"scheduler: [
{

“cbs": 10000,
"cir': 43000,
"meter_type":
"pbs": 20000,
"pir": 50000,
"scheduler_type":
"sequence": 47

"packets”,

"strict",

“cbs": 1400,
"cir": 72000,
“meter_type":
"pbs": 1600,
"pir": 98000,
"scheduler type": "strict",
"sequence": 255

"bytes”,

11 of 18
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Commands Before

"meter_type":
"pir": 500,
“scheduler_typ
"sequence": 23,
"weight": 10

“packets",

wrre',

1

"meter type":
"pir': 200,
"scheduler typ
"sequence”: 29,
“weight": 1

“packets",

"meter type": "packets",
"sequence": 255

1
T,

“name": "policyl",
“schedulers": [
{

"cbs": 37000,
“cirt: 127400
"meter_type
“pbs": 48000,

"packets",

"pir": 280000,
"scheduler_type":
"sequence": 0,
"weight": 40

“dwrr",

“cb.

"scheduler_type": "dwrr",
"sequence”: 255,
"weight": 31

1
3

“name”: "policy2",
“schedulers”: [
{

"meter_type": "bytes",
"pb: 900000,
"pir": 60000,
"scheduler type":
"sequence": 0,
“weight": 5

twrrt,

}

"sequence”: 1,
"weight": 16

1
3.

“name": "policy3",
“schedulers": [
{

"packets",

"strict",
"sequence": 47

"cbs": 1500,

"sequence": 255

Commands: [] Before: [
{
“name": "copp-scheduler-policy",
"schedulers":

"meter type": "packets",
“pir": 100,

"scheduler type": "wrr*,
"sequence": 0,

“weight": 1

"meter type": "packets",
"pir": 100,
"scheduler_type": "wrr",
"sequence": 1,
"weight": 1

“ne
“pir": 600,
"scheduler type"
"sequence”: 2,
"weight": 2

- type": "packets",

"wre',

"meter_type": "packets",
"scheduler_type": "wrr",
"sequence": 3
"weight": 1

"meter_type'
"pir": 500,
"scheduler_type":
"sequence": 4,
"weight": 1

“packets”,

"wret,

“meter_type
"pir": 2000,
“scheduler_type": "wrr*,
"sequence": 6,

“weight": 2

“packets",

"meter_type
"pir": 6000,
"scheduler type": "wrr",
"sequence": 7,

“weight": 2

“packets",

"meter type": "packets",

“pirt: 1000,
"scheduler_type”
"sequence”: 8,
"weight": 2

"meter_type": "packets",
"pir": 300,
"scheduler_type": "wrr",
“sequence": 9,

"weight": 2

"meter_type":
"pir": 3000,

“scheduler_typ
"sequence": 10,

"packets",

"wret,

After: "Not defined"

Module
After exception
"meter type":
"pir": 50,
“scheduler_type": "wrr",
"sequence": 23,
“weight": 10

“"packets",

"meter_type": "packets",
“pir': 200,
“scheduler_type": "wrr",
“sequence": 29,
“weight":

“meter_type": "packets",
“sequence": 255

“name”: "policy4",
"schedulers”: [
{

“cbs": 30000,

“cir': 100000,
"meter_type": "packets",
“pbs": 35000,
"pir": 250000,
“scheduler type":
"sequence": 0,
“weight": 10

“dwrr",

“name": "policys",
"schedulers”: [
{

"cbs": 800000,

“cir': 65000,
"meter_type": "bytes",
“pbs": 900000,
"pir": 70000,
“scheduler type":
“sequence": 0,
"weight"

"wre',

~

“name": “policy6",
"schedulers”: [
{

“cbs": 10000,
“cir': 43000,
"meter_type":
“pbs": 20000,
“pir": 50000,
"scheduler type": "strict",
“sequence": 47

“"packets",

"meter type": "bytes",
“pbs": 1600,
pir": 98000,
"scheduler_type":
“sequence": 255

"strict",

Error: "No Error"
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Testcase Module
name Status User Input Commands Before After exception

“weight”: 2

"meter type": "packets”,
"pir': 3000,
"scheduler_typ
"sequence”: 11,
"weight": 2

wre",

"meter_type": "packets",
“pir": 2000,
"scheduler_typ
"sequence": 12,
"weight": 2

"meter_type": "packets",
"pir": 5000,
"scheduler_typ
"sequence": 13,
"weight": 2

"wre',

“meter_type": "packets”,

"scheduler_type"
"sequence": 14,
"weight": 6

"wret,

"meter type": "packets",
"pir": 5000,
"scheduler type"
"sequence”: 15,
“weight": 4

wrre",

"meter type": "packets",
"pir": 5000,
"scheduler_type": "wrr",
"sequence": 16,
"weight": 4

e
“pir": 500,
"scheduler_type"
“sequence": 17,
"weight": 2

- type": "packets",

"wre',

"meter_type": "packets",
"pir": 500,

"scheduler_type": "wrr",

“sequence":
"weight": 2

“meter_type": “"packets",
"pir": 5000,
"scheduler_type": "wrr",

“"sequence"
"weight": 3

19,

"meter_type": "packets",
"pir": 2000,
“scheduler_type": "wrr",
"sequence": 20,
“weight": 10

"meter_type": "packets”,
"pir": 16000,
"scheduler_type": "wrr",
"sequence": 21,
“weight": 30

"meter type": "packets”,
“pir': 500,
"scheduler type"
"sequence”: 22,
"weight": 10

"meter_type": "packets",
“pir": 500,

"scheduler type": "wrr",
"sequence": 23,
"weight": 10

"meter_type": "packets",
“pirt: 200,
"scheduler_typ
"sequence": 29,
"weight": 1

"wre',

“meter_type": "packets”,
"sequence”: 255

1
3

“name": "policy4",
“schedulers": [
{

"sequence”: 0,
"weight": 10

1
3

“name": "policy5",
“schedulers”: [
{

"ci 65000,
"meter_type": "bytes",
" 900000,
"pir": 70000,
"scheduler typ
"sequence": 0,
“weight": 5

1
T,

"name”: "policy6”,
“schedulers": [

"cbs": 10000,

ir": 43000,
"meter_type": "packets",
. 20000,
"pir": 50000,
“scheduler_type":
"sequence": 47

“strict",

"meter_type": "bytes",

"pbs”: 1600,

"pir": 98000,

“scheduler type": “strict”,
"sequence": 255

12 of 18 4/30/24, 09:58
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Testcase

name Status User Input

test_case 05.1 Passed Inm{lt: [

“name": "policyd",
“schedulers": [
{

"cbs": 30000,
"cir': 100000,
“meter_type":
"pbs": 35000,
"pir": 250000,

"scheduler_type":

"sequence": 0,

"weight": 10
}
1
1,
{
“name": "policy5"
}
{
“name": "policy6",
schedulers": [
{
"sequence": 47
1
}

13 0of 18

“packets”,

"dwrr",

Commands :

Commands
[
"name": "policy4",
"schedulers”: [
{
30000,
100000
"meter type"' "packets",
pbs": 35000,
“pjr": 250000,
"scheduler_type": "dwrr",
"sequence": 0,
"weight": 10
}
1,
"state": "deleted"
“name olicys",
"state": "deleted"
“name": "policy6",

“schedulers”: [
{

“sequence": 47

1,
"state": "deleted"

file:///home/shade/regression-2024-04-30-09-49-05.html

Before: [
{

"name" :

Before

“schedulers":
{

“meter type": “packets”,

"pir’: 100,
“scheduler _type':
"sequence": 0,
"weight": 1

arre,

"meter_type":
"pir": 100,
“scheduler_type"
"sequence": 1,
“weight": 1

"packets”,

"meter type :
pir:
scheduler typ
"sequence": 2,
“weight”: 2

"packets",

"meter_type!
“pir": 800,
"scheduler_typ
"sequence": 3,
"weight": 1

"packets",

"mete ritype" "packets",

”schedulerityp
"sequence": 4,
"weight": 1

[

"meter_type": “packets",

"scheduler type“:
"sequence": 6,
"weight": 2

arre,

“meter_type": “"packets”,

“scheduler_type": "wrr",
"sequence": 7,
"weight": 2

"meter type
"pirt: 1000,
”scheduleritype“ wret,
"sequence":
“weight:

"packets",

"packets”,
"pir: 300,
"scheduler_type"
"sequence”: 9,
"weight": 2

ree,

"meter_type": "packets",

"scheduler_type":
"sequence": 10,
"weight": 2

rre,

"meter_type":
"pir": 3000,
"scheduler_type":

"packets",

rre,
“sequence"
"weight": 2

11,

“meter_type
"pir": 2000,
"scheduler_type":
"sequence": 12,
"weight": 2

"packets”,

arre,

“meter_type
"pir": 5000,
“scheduler_type": "wrr",
"sequence": 13,
“weight": 2

"packets”,

"meter_type
"pir": 19000,
"scheduler_type
"sequence": 14,
“weight": 6

"packets",

[

"meter_type":
“pir": 5000,
"scheduler_type"
"sequence": 15,
"weight": 4

"packets",

wre',

"meter_type":
“pir": 5000,
"scheduler_typ
“sequence": 16,
"weight": 4

"packets",

"meter_type":
"pir": 500,
"scheduler_typ

"packets",

rre,

"sequence": 17,
"weight": 2

"packets”,

- wrr',
"sequence": 18,
"weight": 2

"meter_type":
"pir": 5000,
"scheduler_type"
"sequence": 19,
“weight”: 3

"packets",

wrre",

_type": "packets",
2000,
"scheduler_type": "wrr",
"sequence": 20,
"weight": 10

_type": "packets",
16000,
"scheduler_type": "wrr",
"sequence": 21,

"weight": 30

"meter type": "packets",

"pi .
"scheduler_type": "wrr",
"sequence": 22,
"weight": 10

"name" :

"copp-scheduler-policy",
[ “schedulers”:

After

{
"meter_type":
"pir": 100,
“scheduler_type": "wrr",
"sequence”: 0,
“weight": 1

“packets",

“meter_type":
“pir": 100,
“scheduler. type”: wrrt,
"sequence": 1,

“weight": 1

"packets",

"meter type :
"pir”: 600,
"scheduler_type":
“sequence": 2,
"weight": 2

"packets",

wrr',

"meter_type":
“pir": 8000,
"scheduler type":
“sequence": 3,
"weight": 1

"packets",

wrr",

"meter_type":
“pir": 500,
"scheduler type“: wrr',
“sequence": 4,
"weight": 1

"packets",

"meter_type":
"pir": 2000,
“scheduler_type": "wrr",
"sequence": 6,

“"weight": 2

“packets”,

“meter_type":
"pir": 6000,
"scheduler. type“: wrrt,

"packets",

metertye":
wpirt: 1

"scheduler type“' e,
"sequence

"packets",

“weight"

meter type":
pir': 300,
“scheduler type :

"packets",

wrr',

"packets",

pir": 3000,
"scheduler_type": "wrr",

“sequenc
"weight"

"meter_type":
"pir": 3000,
“scheduler_type": "wrr",
“"sequencs 11,

"weight"

"packets",

"meter_type":
"pir": 2000,
“scheduler_type": "wrr",
"sequence": 12,

“weight"

“packets",

"meter_type":
“pir": 5000,
“scheduler_type": "wrr*,
"sequence": 13,
“weight": 2

"packets",

"meter_type":
“pir": 10000,
"scheduler type":
“sequence": 14,
“weight": 6

"packets",

wrr',

"meter_type":
“pir: 5000,
"scheduler type": "wrr",
“sequence": 15,
"weight": 4

"packets",

"meter type":
"pir": 5000,
“scheduler_type": "wrr",

"packets",

"weight":

"meter_type":
"pir": 500,
“scheduler_type": "wrr",
"sequence": 17,
“weight": 2

“packets”,

“meter_typer:
wpirt:
“scheduleritype“ :

“packets",

aree,

"meter_type":
“pir": 5000,
“scheduler_type": "wrr",
“sequence": 19,

“weight":

"packets",

"meter type
"pir: 2
scheduler type": "wrr",
“sequence": 20,
"weight": 10

"packets",

"meter_type":
pir": 16000,
"scheduler_type": "wrr",

"packets",

“meter_type":
"pir": 500,

"packets",

[

“copp-scheduler-policy”,
[

Module
exception

Error:

"No Error"
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Testcase
name Status User Input
test case 05.2  Passed

Input: [
{

“name": "policy4",
"schedulers": [

"cbs": 30000,
"cir': 100000,
"meter_type":
"pbs": 35000,
“pir*: 250000,
"scheduler_type": "dwrr",
"sequence": 0,
"weight": 10

“packets",

“name": "policy5"

“name”: "policy6",
"scheduler: [
{

"sequence”: 47

file:///home/shade/regression-2024-04-30-09-49-05.html

Commands Before

- type": "packets",

500,
"scheduler_type": "wrr",
"sequence": 23,
"weight": 10

“me

_type": "packets",
"pi .
"scheduler_type": "wrr",
“sequence”: 29,
"weight": 1

“meter_type

“packets",
"sequence”: 255

“name”: "policyd",
“schedulers”: [
{

"packets",

"pir": 250000,
“scheduler_typ
"sequence”: 0,
"weight": 10

dwrr",

1
T,

“name”: "policy5”,
“schedulers": [

“cbs": 800000,
ir': 65000,
"meter_type":

"pir": 70000,
“scheduler_type":
"sequence":
“weight": 5

1
T,

“name”: "policy6”,
“schedulers": [
{

"cbs": 1400,

fres
“scheduler_type":
"sequence": 255

Commands: [] Before: [
{

“name": "copp-scheduler-policy",
[

"schedulers":

"meter_type":
"pir": 100,

“packets",

"sequence": 0,
“weight": 1

"meter type": "packets",

"sequence":
“weight”: 1

"meter_type":

"packets",

scheduler typ
"sequence”: 2,
"weight": 2

wre',

"meter_type": "packets",
"pir": 8000,
"scheduler_type": "wrr",
"sequence": 3,

"weight": 1

"met:

“oi

"scheduler_type": "wrr*,
4

_type": "packets",
500,

“"sequence":
"weight": 1

“meter_type
"pir": 2000,
“scheduler_type": "wrr*,
"sequence": 6,

“weight": 2

“packets",

"meter_type!
"pir": 6000,
"scheduler_type":
"sequence”: 7,
“weight": 2

"packets",

wrr,

"meter_type!
“pir': 1000,
"scheduler_type":
"sequence”: 8,
"weight": 2

"packets",

"wre",

"meter_type":
"pir": 300,
"scheduler_type":
“sequence": 9,
"weight": 2

"packets",

[

“meter_type": "packets",

"scheduler_type": "wrr",
“sequence": 10,
"weight": 2

"meter_type":
"pir": 3000,
“scheduler_type":
"sequence": 11,

"weight": 2

“packets",

"wret,

"meter type": "packets",

“strict",

After: "Not defined"

Module
After exception
{
"meter_type": "packets",
“pir": 500,
“scheduler type": "wrr",
"weight": 10
3
{
"meter_type": "packets",
“pir: 200,
“scheduler_type": "wrr",
29,

“meter_type": "packets",
"sequence": 255
}
]
+
{
“name": "policy4",
“schedulers”: [
{
“sequence": 0
}
1
+
{
"name": "policy6",
"schedulers”: [
{
“cbs": 1400,
“cir: 72000,
"meter_type": "bytes",
“pbs": 1600,
"pir": 98000,
“scheduler_type": "strict",
"sequence": 255
}
]
}

Error: "No Error"
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Testcase
name

test_case_06.1

Status

Passed

Input:

(1

User Input Commands

Commands: [
{

“name": “"policy4",
"schedulers”: [

“"sequence": ©

1,
"state": "deleted"

“name": “policy6",
"schedulers”: [
{

"cirt: 72000
“meter_type":
"pbs": 1600,
“pir": 98000,
"scheduler type":
“sequenc

}

"strict",

1,
"state": "deleted"

file:///home/shade/regression-2024-04-30-09-49-05.html

"weight": 2

N

{
"meter_type": "packets",
"pir": 5000,
“scheduler_type": "wrr",
"sequence": 13,
"weight": 2

1

{
“meter_type": “packets",
"pir": 10000,
“scheduler_typ wrrt,
"sequence”: 14,
"weight": 6

1

{
"meter type": "packets",
"pir": 5000,
"scheduler_typ
"sequence”: 15,
“weight": 4

+

{
"meter type": "packets",
"pir": 5000,
"scheduler_typ wrre®,
"sequence": 16,
"weight": 4

N

{
"meter_type": "packets",
"scheduler_typ wrr',
“sequence”: 17,
"weight": 2

N

{
"meter_type": "packets",
"pi ,
“scheduler_type": "wrr",
"sequence": 18,
"weight": 2

N

{

_type": "packets",

5000,
“scheduler_type": "wrr",
"sequence”: 19,
"weight": 3

1
{
“meter_type": “"packets",
"pir": 2000,
"scheduler_type": "wrr*,
"sequence”: 20,
“weight”: 10
1
{
"meter type": "packets",
"pir": 16000,
"scheduler type":
"sequence": 21,
“weight": 30
+
{
“meter_type": "packets",
“pirt: 500,
"scheduler type": "wrr®,
"sequence": 22,
"weight": 10
N
{
"meter_type": "packets",
“pir*: 500,
"scheduler_type": "wrr",
“sequence": 23,
"weight": 10
N
{
"meter_type": "packets",
"pi 200,
“scheduler_type": "wrr",
"sequence": 29,
"weight": 1
1
{
“meter_type": “packets",
“sequence": 255
}
1
+
{
“name”: "policy4",
“"schedulers": [
"sequence”: 0
1
1
{
"name”: "policy6",
“schedulers": [

1400,

72000

type!

1600,

98000,
"scheduler_type": "strict”,
“sequence": 255

}
1
' }
Before: [
{
“name": "copp-scheduler-policy",
"schedulers":
"meter type": "packets",
“pir": 100,
"scheduler typ wrrt
"sequence”: 0,
“weight": 1
+
{
"meter type": "packets",
“pir": 100,
"scheduler typ wrre®,
"sequence": 1,
“weight": 1
N
{
"meter_type": "packets",
"pi 600,
"scheduler type": "wrr",
"sequence": 2,
"weight": 2
N
{

_type": "packets",

86000,
“scheduler_type": "wrr",
"sequence": 3,
"weight": 1

Y

{
"meter_type": "packets",
"pir": 500,
“scheduler_type": "wrr",
"sequence”: 4,
"weight": 1

N

Before

“pir": 2000,
"scheduler type": "wrr",
"sequence": 12,

After: [
{
“name": "copp-scheduler-policy",
"schedulers":

After

"meter type": "packets",
"pir": 100,

“scheduler type": "wrr*,
"sequence": 0,
“weight": 1

"meter_type": "packets",
“pir': 100,

“scheduler_type": "wrr",
"sequence": 1,

"weight":

"meter_type": "packets",

“pir: 600,
"scheduler_type": "wrr",

pir": 8000,
“scheduler_type": "wrr",
3,

“meter_type":
pir": 500,

“packets”,

"wrr',

Module
exception

Error: "No Error"

4/30/24,
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Testcase
name

Status

User Input

Commands
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“name" :

“sched
{

"name" :

"sched

Before

_type": "packets",
2000,

"scheduler_type": "wrr",

"sequence":
"weight": 2

"me:

_type": "packets",
"pir": 6000,

"scheduler type": "wrr",
“sequence": 7,

"weight": 2

“meter_type": “"packets",
"scheduler type": "wrr",
8

“"sequence":
"weight": 2

“meter_type": “"packets",
"pir': 300,

"scheduler type": "wrr",
"sequence": 9,
“weight": 2

"meter_type": "packets",
"pir": 3000,

"scheduler type": "wrr",
"sequence”: 10,
"weight": 2

“meter_type": "packets",
“pir": 3000,

"scheduler_type": "wrr",
"sequence”: 11,
"weight": 2

"meter_type": "packets",
"pir": 2000,

"scheduler type": "wrr",
“sequence": 12,
"weight”: 2

"meter_type": "packets",
"pir": 5000,
"scheduler_typ
“sequence": 13,
"weight": 2

"wret,

“meter_type": “"packets",
"pir": 10000,

"scheduler_typ —
"sequence”: 14,
"weight": 6
“meter_type": "packets",

"pir": 5000,
"scheduler_typ
"sequence": 15,
"weight": 4

"meter_type":
"pir": 5000,
"scheduler_typ
"sequence": 16,
"weight": 4

"packets",

wre',

"meter_type": "packets",

[

pir': 500,
"scheduler_type"
"sequence": 17,
"weight": 2

"mets
"ot
"scheduler_type": "wrr",
“sequence":
"weight": 2

_type": "packets",
500,

"met:

_type": "packets",
"pi 5000,
"scheduler_type": "wrr",
"sequence": 19,
"weight": 3

"meter_type
"pir": 2000,
“scheduler_type":
"sequence": 20,
“weight": 10

“"packets"”,

wrre',

“meter_type'
"pir": 16000,
"scheduler type":
"sequence”: 21,
"weight": 30

“packets",

"meter_type": "packets",
"pir': 560,

"scheduler type": "wrr",
"sequence”: 22,
"weight": 10

"meter_type": "packets",
“pir": 500,

"scheduler type": "wrr",
“sequence": 23,
"weight": 10

"meter_type": "packets",
"pir": 200,
"scheduler_type": "wrr",

"sequence": 29,
"weight": 1

“meter_type": "packets",
"sequence”: 255

“policyd",
ulers": [

“sequence": 0

"policy6",
ulers": [

"pir": 98000,

“scheduler_type": "strict",

"sequence": 255

After

"meter type": "packets",
"pir': 2000,
“scheduler_type": "wrr",

"sequence s
“weight"

"meter_type": "packets",

ret,

“packets”,

1000,
“scheduler_type": "wrr",
8,

“weight"

"meter_type": "packets",
“pir": 300,
“scheduler_type": "wrr",
“sequence": 9,

"weight"

“meter_type": "packets",
“pir": 3000,

“scheduler type": "wrr",
"sequence": 10,

"weight": 2

"meter_type": "packets",
“pir": 3000,
“scheduler_type":
“sequence”: 11,
“weight": 2

wrr',

"meter_type": "packets",
“pir": 2000,
"scheduler_type": "wrr",
"sequence": 12,

2

“meter_type": "packets”,

"weight": 2

“"meter_type": "packets",
"pir": 10000,
“scheduler_type": "wrr",
"sequence": 14,
“weight": 6

“meter_type": "packets",
“pir": 5000,
“scheduler_type": “wrr*,
“sequence": 15,
“weight": 4

"meter_type": "packets",
"pir": 5000,
"scheduler_type":
“sequence": 16,
"weight":

wrr',

"meter_type": "packets",

"pir': 500,
"scheduler_type": "wrr",
17,
"meter_type": "packets",
“pir': 500,
e,

"meter_type": "packets",
"pir": 5000,
re,

“meter_type": "packets",

wrr',

"meter_type"
"pir": 16000,
“scheduler type": "wrr",
"sequence": 21

“weight"

30

"meter_type": "packets",
“pir": 500,
“scheduler_type":
"sequence": 22,
“weight": 10

wrr",

"meter_type": "packets",
"pir": 500,
“scheduler_type": "wrr",
“sequence": 23,
“weight": 10

"meter_type": "packets",
"pir": 200,

“scheduler type": "wrr",
"sequence 29,

"weight": 1

“meter_type": "packets",
“sequence”: 255

Module
exception
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Testcase
name

test_case_06.2

Status

Passed

Input:

0

User Input

Commands :

0

Commands

file:///home/shade/regression-2024-04-30-09-49-05.html

Before: [
{

Before

"schedulers":

“name": *“copp-scheduler-policy",
e

"meter_type!
"pir': 100,
"scheduler type": "wrr",
"sequence”: 0,

"weight": 1

"packets",

"meter_type": "packets",
“pir*: 100,
"scheduler_type": "wrr",
“sequence": 1,
"weight": 1

“meter_type": "packets",

pir": 600,
"scheduler_type": "wrr",
"sequence": 2,
"weight": 2

"meter_type": “packets",
"pir": i
"scheduler_type"
"sequence": 3,
"weight": 1

"wret,

"meter_type": "packets",
"pir": 500
“scheduler_typ
"sequence": 4,
"weight": 1

"meter_type!
"pir": 2000,
"scheduler_typ
"sequence”: 6,
"weight": 2

"packets",

wre',

"meter_type": "packets",
“pir": 6000,

scheduler_type”: "wrr",
"sequence":
"weight": 2

"meter_type": "packets",
i 1000,
“scheduler_typ
“sequence": 8,
"weight": 2

“meter_type": "packets",
pirn: 3

pi .
"scheduler_type": "wrr",
"sequence": 9,

"weight": 2

"meter_type": "packets",
"pir": 3000,
“scheduler_type": "wrr",
"sequence": 1
"weight": 2

"meter_type
"pir": 3000,

"packets",

"scheduler_type": "wrr",
"sequence”: 11,
“weight": 2

"packets",

"scheduler_type":
"sequence”: 12,
"weight": 2

"wre',

"meter_type": "packets",
“pir": 5000,
"scheduler_type": "wrr",
"sequence": 13,
"weight": 2

"meter type": “packets",
"pir": 10000,
"scheduler_type": "wrr",
"sequence": 14,
"weight": 6

"meter_type": "packets",
"pir": 5000,
“scheduler_type": "wrr",
"sequence": 15,
"weight": 4

"meter type": "packets",
"pir": 5000,
“scheduler_type"
"sequence": 16,
“weight": 4

wrre",

"meter type": "packets",
"pir": 500,
"scheduler_type"
"sequence": 17,
"weight": 2

"wre*,

"meter type": "packets",
"pir": 500,

"weight": 2

"meter_type": "packets",
"pir": 5000,

"scheduler_type": "wrr",
“sequence": 19,
"weight": 3

“packets”,
"scheduler_type": "wrr",

"sequence": 20,
"weight": 10

"meter_type": "packets",
"pir": 16000,
"scheduler_type"
"sequence": 21,
“weight": 30

wrre',

"meter_type": "packets",
"pir": 500,
"scheduler_type": "wrr",

After:

After

"Not defined"

Module
exception

Error: "No Error"
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Testcase Module
name Status User Input Commands Before After exception

“sequence": 22,
"weight": 10

“meter type": “packets",
"pir": 500,
"scheduler_type": "wrr",
"sequence": 23,
"weight": 10

"meter_type": "packets",
"pirt: 2
“scheduler_type": "wrr",
"sequence": 29,
“weight”: 1

"meter_type": "packets",
"sequence”: 255

Testcase Complete Summary: Total: 12, Passed: 12, Failed: 0
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